Table 1: Initial Claims by Local Workforce Area (LWA)

July 2018

Local Workforce Area	All Programs	UI	UCFE	UCX
State Total	23,759	23,739	8	12
Bluegrass LWA	2,804	2,801	1	2
Cumberland LWA	1,046	1,044	2	-
EKCEP LWA	920	919	-	1
Green River LWA	613	612	-	1
Kentuckiana Works LWA	12,390	12,386	3	1
Lincoln Trail LWA	1,130	1,130	-	-
Northern Kentucky LWA	531	531	-	-
South Central LWA	648	646	1	1
TENCO LWA	1,108	1,107	-	1
West Kentucky LWA	1,484	1,481	-	3
Interstate	399	399	-	-
Commuter	686	683	1	2

Includes all claims in which state funds are involved, including UI-only claims, and joint claims involving state UI with UCFE or UCX.

Table 2: Non-Monetary Determinations by Local Workforce Area (LWA)

Local Workforce Area	Total All Programs	UI	UCFE	UCX	SEP	DISQ	NSEP	DISQ
State Total	5,484	5,422	37	25	3,224	1,616	2,198	1,518
Bluegrass LWA	815	809	4	2	468	213	341	198
Cumberland LWA	339	337	1	1	211	111	126	102
EKCEP LWA	359	357	1	1	218	123	139	106
Green River LWA	206	204	2	-	125	67	79	61
Kentuckiana Works LWA	1,509	1,504	4	1	855	432	649	447
Lincoln Trail LWA	412	402	7	3	257	119	145	102
Northern Kentucky LWA	391	389	2	-	230	115	159	101
South Central LWA	316	316	-	-	203	107	113	77
TENCO LWA	233	229	-	4	128	78	101	69
West Kentucky LWA	480	476	2	2	297	149	179	131
Interstate	179	169	6	4	97	50	72	67
Commuter	245	230	8	7	135	52	95	57

Table 3: Benefit Payments and Exhaustions by Local Workforce Area (LWA)

Local Workforce Area	Unemployment Insurance Paid	Weeks Insurance Paid	Average Benefit Payment	Program Exhaustees
State Total	31,915,100	92,626	345	1,565
Bluegrass LWA	4,119,243	12,434	331	274
Cumberland LWA	1,723,024	5,568	309	169
EKCEP LWA	2,268,411	7,298	311	120
Green River LWA	912,425	2,727	335	57
Kentuckiana Works LWA	12,008,859	31,983	375	382
Lincoln Trail LWA	1,934,813	5,694	340	84
Northern Kentucky LWA	1,493,838	4,307	347	80
South Central LWA	1,350,908	4,161	325	121
TENCO LWA	1,109,431	3,545	313	82
West Kentucky LWA	2,340,565	7,616	307	135
Interstate	995,748	2,740	363	61
Commuter	1,657,835	4,553	364	-

Table 4: Total Insured Unemployment and Average Weekly Claimantsby Local Workforce Area (LWA)

Total Weeks Average Number of Claimed Weeks Claimed Local Workforce Area All Programs UI UCFE UCX 23,427 104,120 102,960 539 621 State Total 3,098 13,769 13,705 36 28 **Bluegrass LWA** 6,289 6,252 9 28 Cumberland LWA 1,415 7,995 7,935 12 48 1,799 EKCEP LWA 676 3,006 2,984 22 -Green River LWA 8,062 35,833 35,720 67 46 Kentuckiana Works LWA 1,568 6,969 6,782 89 98 Lincoln Trail LWA 47 8 1,089 4,839 4,784 Northern Kentucky LWA 1,070 4,757 4,702 27 28 South Central LWA 879 3,905 3,889 16 -**TENCO LWA** 8,454 102 1,902 8,316 36 West Kentucky LWA 708 3,145 3,003 78 64 Interstate 1,161 5,159 4,888 116 155 Commuter

Table 5: Weeks Claimed by Local Workforce Area (LWA)

July 2018

Local Workforce Area	Total All Programs	Regular UI	UCFE	UCX
State Total	104,120	102,960	539	621
Bluegrass LWA	13,769	13,705	36	28
Cumberland LWA	6,289	6,252	9	28
EKCEP LWA	7,995	7,935	12	48
Green River LWA	3,006	2,984	22	-
Kentuckiana Works LWA	35,833	35,720	67	46
Lincoln Trail LWA	6,969	6,782	89	98
Northern Kentucky LWA	4,839	4,784	47	8
South Central LWA	4,757	4,702	27	28
TENCO LWA	3,905	3,889	-	16
West Kentucky LWA	8,454	8,316	36	102
Interstate	3,145	3,003	78	64
Commuter	5,159	4,888	116	155

Includes UI-only claims and joint claims involving state UI combined with UCFE or UCX.

Table 6: Selected Characteristics of the Insured Unemployed During the Week Including the 19th by Local Workforce Area (LWA)

July 2018

Local Workforce Area	Total Insured Unemployed	Percent Female	Percent Non-White	Percent Age 21 and Under
State Total	22,573	46.3%	19.4%	1.3%
Bluegrass LWA	2,942	47.8%	20.6%	1.8%
Cumberland LWA	1,724	46.8%	6.6%	0.5%
EKCEP LWA	1,809	44.2%	-	0.5%
Green River LWA	737	39.1%	7.7%	2.4%
Kentuckiana Works LWA	6,731	47.1%	36.0%	1.1%
Lincoln Trail LWA	1,789	53.9%	15.4%	2.4%
Northern Kentucky LWA	1,055	48.8%	9.9%	0.8%
South Central LWA	1,266	44.8%	13.4%	2.1%
TENCO LWA	881	47.0%	1.5%	2.0%
West Kentucky LWA	1,774	47.3%	19.2%	0.5%
Interstate	712	32.5%	9.2%	2.5%
Commuter	1,153	38.3%	17.8%	1.5%

Regular state UI weeks claimed during the week including 19th.

Percentages are taken from a 20% sample during the survey week.

Table 8: Insured Unemployed From Coal Mining, Construction, and Manufacturing by Local Workforce Area

July 2018

Local Workforce Area	Mining	Construction	Manufacturing
State Total	220	1,943	7,411
Bluegrass LWA	-	188	672
Cumberland LWA	9	123	738
EKCEP LWA	140	288	209
Green River LWA	9	100	188
Kentuckiana Works LWA	9	231	3,004
Lincoln Trail LWA	-	84	916
Northern Kentucky LWA	-	79	196
South Central LWA	-	65	489
TENCO LWA	-	214	265
West Kentucky LWA	9	348	472
Interstate	9	114	35
Commuter	35	109	227

** - During the week including the 19th.

Table 9: Total Benefits Paid, Weeks Compensated, and Average Weekly Beneficiariesby Local Workforce Area (LWA)

Local Workforce Area	Benefits	Weeks Compensated	Average Weekly Beneficiaries
State Total	32,299,708	93,490	21,035
Bluegrass LWA	4,151,104	12,497	2,812
Cumberland LWA	1,739,916	5,605	1,261
EKCEP LWA	2,305,593	7,364	1,657
Green River LWA	921,721	2,751	619
Kentuckiana Works LWA	12,063,387	32,088	7,220
Lincoln Trail LWA	2,017,291	5,892	1,326
Northern Kentucky LWA	1,513,256	4,358	981
South Central LWA	1,368,824	4,213	948
TENCO LWA	1,115,963	3,559	801
West Kentucky LWA	2,395,046	7,743	1,742
Interstate	1,049,772	2,867	645
Commuter	1,657,835	4,553	1,024

Table 10: Initial Claims
UI-UCFE-UCX
by Local Workforce Area (LWA)July 201824,08824,08824,0811,046

State Total

Bluegrass LWA

Cumberland LWA	1,046
EKCEP LWA	920
Green River LWA	613
Kentuckiana Works LWA	12,390
Lincoln Trail LWA	1,130
Northern Kentucky LWA	531
South Central LWA	648
TENCO LWA	1,108
West Kentucky LWA	1,484
Interstate	399
Commuter	686
Liable State	329

Includes all claims in which state funds are involved, including UI-only claims, and joint claims involving state UI with UCFE or UCX.

Table 12: Average Duration of Claims by Local Workforce Area

July 2018

		All Claimants	"A" Claimants	"B" Claimants	
Local Workforce Area	Average Duration Two Years Prior	Average Duration One Year Prior	Current Period Average Duration	Current Period Average Duration	Current Period Average Duration
State Total	19.0	18.8	18.6	22.0	12.5
Bluegrass LWA	18.2	18.9	19.0	21.8	9.9
Cumberland LWA	19.1	19.5	18.8	23.6	9.3
EKCEP LWA	22.9	19.9	18.4	22.6	12.5
Green River LWA	20.1	18.8	19.5	21.5	16.2
Kentuckiana Works LWA	18.4	18.5	19.4	22.0	13.7
Lincoln Trail LWA	14.7	15.6	14.1	19.5	7.8
Northern Kentucky LWA	18.0	18.6	18.1	21.1	9.7
South Central LWA	17.6	16.6	16.9	21.7	9.9
TENCO LWA	20.0	19.9	19.5	23.8	14.1
West Kentucky LWA	18.4	19.3	18.4	21.1	14.8
Interstate	25.3	25.1	25.5	27.6	22.6
Commuter	18.1	18.6	19.5	22.2	14.3

Current period's duration is for the 12 months ending with the current month.

Duration is for regular program only.

Definitions:

"A" Claimants - Claimant who do not have a definite recall date.

"B" Claimants - Claimant who have a definite recall date.

Table 13: UI Non-Monetary Determinations Time Lapse Affected Week Separations by Local Workforce Area

Local Workforce Area	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
State Total	2,452	236	124	2,812	208	3,224	87.2%
Bluegrass LWA	362	32	25	419	23	468	89.5%
Cumberland LWA	168	15	8	191	14	211	90.5%
EKCEP LWA	166	17	9	192	14	218	88.1%
Green River LWA	97	8	2	107	8	125	85.6%
Kentuckiana Works LWA	659	71	28	758	44	855	88.7%
Lincoln Trail LWA	196	16	8	220	15	257	85.6%
Northern Kentucky LWA	170	17	11	198	17	230	86.1%
South Central LWA	153	14	7	174	12	203	85.7%
TENCO LWA	94	4	1	99	19	128	77.3%
West Kentucky LWA	223	28	8	259	22	297	87.2%
Interstate	68	3	9	80	9	97	82.5%
Commuter	96	11	8	115	11	135	85.2%

Table 14: UI Non-Monetary Determinations Time Lapse Affected Week Non-Separations by Local Workforce Area

Local Workforce Area	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
State Total	1,254	187	71	1,512	344	2,199	68.8%
Bluegrass LWA	212	27	12	251	48	341	73.6%
Cumberland LWA	57	6	6	69	35	126	54.8%
EKCEP LWA	72	15	6	93	29	139	66.9%
Green River LWA	40	11	2	53	6	79	67.1%
Kentuckiana Works LWA	395	44	18	457	100	649	70.4%
Lincoln Trail LWA	77	19	5	101	27	145	69.7%
Northern Kentucky LWA	99	14	5	118	22	159	74.2%
South Central LWA	73	5	4	82	13	113	72.6%
TENCO LWA	61	8	4	73	12	101	72.3%
West Kentucky LWA	96	15	4	115	30	179	64.2%
Interstate	31	10	2	43	11	72	59.7%
Commuter	41	13	3	57	11	96	59.4%